520 Munsell System Y,,=100, Mex
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Xy=96,79,Y,,=100,00Z,~111,46 B,
X=0,3140y,,=0,3243 +10
Ag=(80=30,r*a0,y*a0,0) Y
Bo=(bo~bo,n+bo, y+bo,») Y
29 =ago [x/y]

by = bao [2/4]

ay =1, byp=-0,4

A
n = Mex
ag,y=agy(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
apy=0,021,b,y=0,024
ap,4=-0,031,b 5=-0,029
Munsell System Y,,=100, Mex

-10

0 C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)
BE660-1A_6 BE660-2A_6
Xy=96,79,Y,,=100,00Z,~111,46 B, X,=96,79,Y,,=100,00Z,~111,46 B,
%=0,3140y,,=0,3243 40 %y=0,3140y,,=0,3243 10

Ar=(ag-ay rtay ytag a) Y
B1=(by=by tby v+ o) Y
a; = ag[(x-0,17Dh]

by =byo [ZA

ay=1, byp=-0,4

Ax=(agap ntag ytap p) Y
Bo=(by—hy tby y+bo p) Y
8y = a0 [(x=0,17D/y]
=bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4

A

m1=1,000,b,=0,171 n @7 h 1 mp;=-0,169,bp;=0,389
n = Mex _io ! ! 1r0 n = Mex -10 10
ay y=apy(Y/Y1g-1) ¥ ap y=apy(Y/Y1g-1)
by v=boy(Y/Y1g-1) A 05 y=boy(Y/Y1g-1)
ayy=0,021,b,y=0,024 ayy=0,021,b,y=0,024
a3 A=—0,031,b; ,=-0,029
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex
chromatic value A4, B;) chromatic value (A,, Bo)
BE660-3A_6 BE660-4A_6
Xw=96,79Y,,=100,00Z,~111,46 B, Xu=96,79,Y,~100,002,~111.46 B,
¥,,=0,3140y,,=0,3243 Ao %,=0,3140y,,=0,3243 10
Ag=(ag-ag rtag ytag a) Y Ag=(ag-ay rtag y+ay p) Y
Bg=(bg-bg ntbg y+bs o) Y By=(bgbg n+0g y+bg o) Y
a3 = a [(x-0,172/y] 4L ay = ag [(x-0,172/y]
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 A ay =1, byp=-0,4
Mp1=—0,974.5 3 Mpy=-0,169,bp;=0,389 \ A
n = Mex -10 10 n = Mex -10 ' 10
ag y=apy(Y/Y1g-1) X ay y=apy(Y/Y1g-1)
b y=boy(Y/Y1g~1) T by y=boy(Y/Y1g-1)
ay=0,021,b,y=0,024 ay=0,021,b,y=0,024
a5A=-0,031b5 4=-0,029 a4 A=-0,031b, x=-0,029
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8 &9, Mex -10
chromatic value (A3, Bg) chromatic value (A4, By)
BE660-5A_6 BE660-6A_6
Xw=96,79.Y,,=100,00Z,~111,46 B, Xu=96,79,Y,~100,00Z,~111.46 B,
%,,=0,3140y,,=0,3243 A0 %,=0,3140y,,=0,3243 10
As=(85-85 rtas y+as a) Y Ae=(3g3g a5 y+ap,A) Y
Bs=(bs—D5 y+bs v+bs 4) Y Bg=(bg—bg nt0s, v +bs ) Y
a5 = a [(x-0,172/y] 4L ag = ag [x/Y] 4L
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
a0= 1, byo= 0,4 A ap0= 1, byg= ~0,4 A
Mp1=—0,974.b;=0,65 3 Mp1=-0,974,b,=0,658 6
n = Mex -10 10 n = Mex -10 10
a5 y=apy(Y/Y1g-1) X ag y=apy(Y/Y1g~1)

bs y=boy(Y/Y1g~1)
a,y=0,021,b,,=0,024

a5 A=-0,031,b5 ,=—0,029
Munsell System Y,,=100, Mex

b, y=boy(Y/Y1g-1)
a,y=0,021,b,,=0,024

a5 A=—0,031,b5 5=-0,029
Munsell System Y,,=100, Mex

C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (Ag, Bs) chromatic value (Ag, Bg)
BE660-8A_6

BE660-7A_6

BE660-7N



